C:h Dividing Whole Numbers

Name:
Solve each problem. Answers
1) 098+2= 2) 32+3=
- 1.
2,
3.
3) 52+2= 4) 43+8= 4.
5.
6.
7.
5 60+8= 6) 26+4 =
8.
9.
10.
7 70:2 = 8) 46+2 =
E— E— 11.
12.
9 56+2= 10) 35+4=
11) 60+7 = 12) 54+2 =
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ﬂh Dividing Whole Numbers

Name:

Answer Key

Solve each problem. Answers
1 2 = 2) +3=
) 98+2 49 32+3 10r2 . 49
2. 10r2
3. 26
3 52:2= 26 4) 43+:8= 513 4, or3
5. 7r4
6. 6r2
7 35
5 60:8= 7r4 6) 26+4= 612
8 23
9 28
10. 8r3
- — 8 T,
) 70+2= 35 ) 46+2= 23 " Sr4
12, 217
9 56+2= 28 10) 35+4= 8r3
11) 60+7= 8r4 12) 54+2=_ 27
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